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(A) 3KB
(B) 4KB
(C) 63KB
(D) 64KB
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(A) AC0O00h
(B) AC200h
(C) AD00Oh
(D) AD200h
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MOV AX > 1234h
MOV BX > 5678h
ADD AX»BX
(A) AX= 1234h
(B) AX= 12348h
(C) BX= 5678h
(D) CF=1
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(A) 1.25%;

(B) 8.35%;

(C) 12.5%

(D) 83.5%)
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(A) 15

(B) 31

(C) 127

(D) 255
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INT32% &% & h hf Rl i @ ?

(A) 00032h~00035h

(B) 00040h~00043h

(C) 00080h~00083h

(D) 00128h~00131h
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(A) SRAMA 1t % e 2o 4 15 K 6 i die =
(B) ety B B o P I/ HE E - SRAM ~ DRAM ~ H i
(C) DRAMZ & & {7 ¥ & e { A7 (refresh) » SRAMRA| % § &
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11. 7 B3B8 G si2aii 2 h2 2 2 WP > T Ak it e K g
(A)CPUH &M 1 v > ¥ & 2 F % F Fra > T % Kk Las X
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(B)fﬁﬁé‘ﬁ%ﬁ’”’ Bo Wl ig B o % 2 CPUGH 7 2cic &2 &
(C) ¥ » 3 *f'ulf@l“’%#iiw CFRTFEY 2R ARGTREAR
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(A)Aﬂg"‘bﬁh})‘50‘0355@5%)‘;0‘05?’(:@%]51?0
(B)AFW'?"T?%]”él‘OfBﬂgﬁﬁij)‘ﬁl‘OF%’Cﬁﬁ%}ﬂ?%O
(C)AH?ﬁ%]”él‘lnBﬂyﬁﬁ?”ﬁO OFE’CEL?%]t'iI%O
(D)Aﬁ'gﬁ%]”,;l‘l“Bmﬁﬁ)‘% 0~ 1p » CW%]t"l{:‘O
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(A) 1
(B) 2
(C) 4
(D) 7

17. % #f 2 % 7 3 F(A,B,C)=(A+B+C)(ABC+AE- i fj 1 = 7|
+ 1 FE?
(A) F(AB,C)=AB+BC
(B) F(A,B,C)=ABC+ABC
(C) F(A,B,C)=AB+BC+CA
(D) F(A,B,C)=ABC+ABC+ABC

18. T AR B AR T B2 A G T F R (NOT)# * ?

(A) %‘ﬁ«;})\}; >3 ﬁﬁ(NAND)mﬁ '[%ﬁ?] g
(B) %‘%})\ 5 2 i (NAND) - @ﬁaa])‘ HZLe0
(©) E“%J & B (NOR) s B %] X B
(D) %ﬁ;f]%ﬁ E“H’?(NOR)&"?’J* TB‘%J HE 0

19. # +x * #& £ 7 ;X F(A,B,C)=I1(1,3,5,6)F & >> T 7| fm ;% ?
(A) AC+BC+AB
(B) AB+BC+ABC
(C) AC+BC+ABC
(D) >(0,2,4)

20. % F(AB)=AB+AB > T 5| ¥ 1 f&x?

(A) A=0 > B=0 > B|F=0
(B) A=0 > B=1> A|F=1
(C) A=1> B=0- R F=0
(D) A=1> B=1 B|F=0
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(A) 1.125(10)
(B) 1.625(10)
(C) 5.125(10)
(D) 5.625(10)

(A) B+ 2 & B4R 1

23. - HA¥ 16 A F 0 2 B D5 Qo~Qusy F Qo N 3 1(F ik )
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(A) 1000
(B) 1001
(C) 1100
(D) 1101

24. T 7| @ JF,Z TR Oy ‘,ﬁ% BR8N T % ?
(A) AND W
(B) ORH
(C) RS 4 %
(D) fa R &

25. - B f A IKE F B B EAQL A E 00 F IS0 K1
R B LB R 08 0 ERANQEZ P 7
(A) 0
(B) 1
(C) ¥ &

(D) 022 1% 3 4 3

26. 1 * T F Bl XN - 2=t B d OF b el bt @
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(A) 127
(B) 128
(C) 255
(D) 256
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27. BCH+A2; B AR Y » 3 € % DT A1 B g7 7
(A) % $& X (code editor)
(B) % ¥ F (compiler)
(C) = # Z (exchanger)
(D) i % = (linker)

28. B3 T AICH+AE N R Tk 0 P LAY
int x=20, y=2, z=1;

int main()
{
cout<< (x>>y)+(y<<z);
¥
(A) 9
(B) 12
(C) 41
(D) 81
29. T A AR A 78 mﬁ;—l M EE LR
int A=0, B=15;
int main()
{
for (int i=1; i<=5; i++){
A +=1;
if (i==2) continue;
B -=1i;
by
cout << "A="<< A< "" << "B="<< B;

}

(A) A= 12> B=0
(B) A= 12 * B= 3
(C) A= 15 B=0
(D) A= 15 B= 2
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int main()
{
int choice;
enum subject { chinese, english, math, physics, chemistry };
subject course;
cout << 31%1 ~on
cin >> choice;
switch (choice)

{

case 1:
course = chinese;
break;

case 2:
course = english;
break;

case 3:
course = math;
break;

case 4:
course = physics;
break;

case 5:
course = chemistry;
break;

}

v

cout<<:"$ﬁ:ﬁ D E B R 0 " << course;

(A) > o1

w8 E Eehf P 5 chinese
(B) #aj » -2

IR S S S
(C) #y» -4

w8 F B P 5 math
(D)@?J)x.S
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31. #x=5>y=15- T 7iF & ;' i@ —‘ﬁ 5 E (True) ?
(A) (x==y/3)&&(y%x==3)
(B) '(x<y)&&(y==x+10)
(C) (x>y)[l(x&y==5)
(D) (x+10!=y)||(x%y==0)

32. T AICH+AEN R F R A o P F LR T
int main()
{
int x = 0;
while (x < 4){
If(x < 3) x +=1;
iIf(x < 4) x += 2;
if(x <5) x -=1;
¥
cout << "x=" << X;
¥
(A) x=14
(B) x=5
(C) x=6
(D) x=7

33. TAICH+ RN O H FRE @ —‘g i FE ?
int main()
{
inta=3,b=4,1=7;
double e = 11.0, f;

a+=i++;

f=++e/b--;

cout << "a="<<a<<" "

cout << "f =" << setprecision(2) << fixed << f << endl;

(A)a=10>f=3.00
(B)a=10" f = 4.00
(C)a=11" f=2.75
(D) a=11> f = 3.67
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34. THICH+AEN A F R kX t+ty+tza B 7
int main()
{
short a;
double b;
char c[]="4#2 3 K F*App"; /| 3B chF ~2 F a3 %
int x, vy, z;
X = sizeof(a);
y = sizeof(b);
z = sizeof(c);
cout << "X +y+z="<<x+y+z

}

(A) 17
(B) 18
(C) 21
(D) 22

35. % T 3| 2 7 R E A TRy TR 0 ®F P CHHAR

A FRSE S 13579
int main()

{

inti;
for (i
{

1;1<=100; i++)

Cout << i << m o,

by

(A) if (i % 2 == 0) continue;
iIf (i ==11) break;

(B) if (1 % 2 == 1) continue;
if (i ==11) break;

(C) if (i % 2 == 0) continue;
if (i ==10) break;

(D) if (i % 2 == 1) continue;
iIf (i ==10) break;
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36. % TAICH+AE N e TEE 5 25 > B3R

Eal o N e
int main()
{
int a[10];
int *Aptr = a;
for (int i =0;1<10; i++) a[i] =1 *1i;
cout << ;

ky
(A) *(Aptr+5)

(B) a[4]
(C) &a[5]
(D) &(Aptr+4)

37. T FICH+AE R R F R 0 P K LA D
void FuncA(int x, int &y) {

X *= 3;
y +=4;

}

void FuncB(int *x, inty) {
*y K= 5;
y +=6;

}

int main()

{
inta=1,b=2;
FuncA(a, b);
cout<<a<<""<<p<<""™
FuncB(&a, b);
cout << a << " " << b;

}

(A)1656

(B) 36512

(C)3456

(D) 36 1512
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38. F 42 FB 5 C++4% ;% Rectangle#f | (Class) ez 2 v

B Rectangled i che 2 % & * o8- 38 §_ 45 3% 7
class Rectangle { S
private:

int x=1, y=2;
public:
void set(int length, int width) {
x = length;
y = width;
¥
int area() {
return x *vy;
¥
} rect; // Rectangled & % #k
(A) cin >> rect.x >> rect.y;
(B) Rectangle rectl;

(C) rect.set(12, 5);
(D) cout << "Area of Rectangle: " << rect.area();

39. T ACH+AES R F K > P F LAY
void func(int *data) {
int temp;
for (inti=4;1>0;i--)
if (data[i-1] < data[i]) {

temp = data[i];
data[i] = data[i - 1];
data[i - 1] = temp;

k
}
int main()
{
inta[5]={1,2, 3,45}
func(a);
for (int i=0; i<5; i++) cout << a[i] << " ";
%A) 12345
(BY15234
(C)51234
(D)54321
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40. T AICH+ARESN R TR A o P F X FE Y
struct Rating {

int number;
int score;
char level;
b
int main()
{
struct Rating *gradePtr, grade = {123, 90, 'A'};
gradePtr = &grade;
grade.number = 456;
(*gradePtr).number = 789;
gradePtr->score = 79;
switch (gradePtr->score / 20) {
case 5:
case 4:
gradePtr->level = 'A'; break;
case 3:
gradePtr->level = 'B'; break;
default :
gradePtr->level = 'F'; break;
¥
cout << gradePtr->number << " " << (*gradePtr).score << " "
<< grade.level;
%A) 123 90 A
(B) 456 79 B
(C) 456 90 A
(D) 789 79 B
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